Yolanda had $47.85 when she went to the store. When she came home, she had
$14.93. How much money did she spend?

Subtract the amount she has left from the amount she had when she went to the
store. Here’s how to do that:

$47.85
-14.93
$32.92 Yolanda spent $32.92.

Mr. Augustine went grocery shopping for his family. He took $94.37 with him,
and he came home with $ 5.06. How much did she spend?

Subtract the amount he has left from the amount he had when he went to the store.
Here’s how to do that:

$94.37
- 5.06
$89.31 Mr. Augustine spent $89.31.

Teresa walked to the corner store. She took $10.00 with her, and she came home with $4.58.
How much did Teresa spend?

Subtract the amount she has left from the amount she had when she went to the
store. Here’s how to do that:

$10.00
- 458
$5.42 Teresa spent $ 5.42.



